© MACAP

CODE

FEATURES

C2470012

COMPLETE HOPPER

CODE

FEATURES

C00071903

HOPPER+LOCKING
SLIDE

MACAP srl

Model

Leo 55

Evol. Table Date
3 1/2 24/03/2023
N. CODE FEATURES
. 1 C247001
o 2 C00071903A1 Trasparent hopper
. 3 C247003
. 4 C00071912
. 5 C00010601
. 6 C00071907
. 7 €00045002
. 8 €00045001
. 9 €00045020
. 10 €00021003
. 1 C00010300A
. 12 C00050500
. 13 C00073003
. 14 C00044004
15 - MOTOR
. C00062220 220-230V/\§V0—6OHZ 390
. C00062221 110V/60Hz
. 16 €00044003
. 17 €00044002
. 18 €00010313
. 19 €00021000
m| 20 C00062209
| 2 €00021001
22 - CAPACITOR
. C00061107 TO uF 220/}_%230V—50/60
. C000611281 20 WF (UL) 110V/60Hz
23 - BODY
. €00010600CO9L Silver
. €00010600C83L Chrome
. C00010600C20L Black
. €00010600C04L White
| 24 €00044013
s | 25 C00062223
m | 26 C00062208
.| 27 C00071908
m| 28 C00073008
) C247049
[ ] 30 C00050150 DIN 7991 M4x35 INOX
[ ] 31 C00050504 DIN 7984 M4X35
[ ] 32 C00050152 DIN 551 Méx14 INOX
| C00050151 A
[ ] 34 C00050507 DIN 7984 M5X18 INOX
.| 35 C00050501 DIN G/ O
[ ] 36 C00050508 DIN7984 M4x10 INOX
[ ] 37 C00050511 DIN 6923 M5 INOX
m| 38 C00050141 DIN 965 M3x6
[ ] 39 C00050514 DIN 7991 M4X16 INOX

Via Toniolo 18 - 30330 - Maerne (VE) - Italy - Tel. +039 041 5030466 Fax +039 041 5030477

www.macap.it - info@macap.it

Descriptions

um/m Assembly/Part available

oo/o Assembly/Part not available




© MACAP

MACAP srl

Via Toniolo 18 - 30330 - Maerne (VE) - Italy - Tel. +039 041 5030466 Fax +039 041 5030477
www.macap.it - info@macap.it

Model

Leo 55

Evol. Table Date
3 2/2 24/03/2023
N. CODE FEATURES
. 1 C00061661
. 2 C00071904
. 3 C00061660
. 4 C00071905
. 5 C00062210
. 6 C00044007
. 7 C00071906
. 8 C00071802
. 9 €00020111
. 10 C00062222
. 1 C000413401
. 12 C00071910
. 13 €00045000
14 - POWER PLUG
. C00062205 SCHUKO
. C000622054 AUS
. C000622051 USA
. C000622052 UK
. C000622053 SW
. C000622055 ISR
. C000622056 ARG
. 15 C00071909
16 - POWER BOARD
. C00062200 230V 50/60Hz
. C00062201 110V 60Hz
. 17 C00050153 DIN 7981 3.5X9.5
. 18 C00050509 DIN 7981 2,2x4,5
[ ] 19 C00050154 DIN 7991 M6x20

Descriptions

um/m Assembly/Part available

oo/o Assembly/Part not available




	Corpetto
	Vista del disegno1
	Vista del disegno3
	Vista del disegno4

	Naso
	Vista del disegno5


